
54176
SERVICE BULLETIN

Hydraulic Steering Conversion 
Kits with By-Pass System and 
Security Valve for 
6206 Deutz Tractors 
Assembling Instruction

1. The hydraulic oil pump will be 
assembled opposite of diesel  
oil pump.

2. The oil reservoir will be attached to 
the cylinder head front right bolt.

3. The lift assembly bracket should be 
fitted to the engine body.

4. The lift valve and piston should  
be assembled.

5. A hose 5/8 R6 should be assembled 
from reservoir to oil pump.

6. Return hose 3/8 R6 from lift  
to reservoir.

7. Pressure hose from oil pump to  
lift 5/16R1.

8. While installing the long rod on to 
the lift command arm be sure that 
installing should slightly not be forced 
otherwise the steering dose not  
work properly.

9. M8 bolts in valve shafts will  
be tightened to the canal from  
the center.

10. Use special sae 10 or 20 oil (1L), start 
engine, check oil level and add more 
if necessary.

11. Hydraulic pressure valve.

Note: Check fastening bolts and hoses 
after 1 week.

www.ahs.com.tr

8 BU KATALOGDA YER ALAN TÜM ORJİNAL NUMARALAR, MARKA VE MODELLER SADECE KARŞILAŞTIRMA AMAÇLIDIR.



DEUTZ 6206 DİREKSİYON SİSTEMİ / DEUTZ 6206 STEERING KIT

1

7

7

8

8

10

4

6
6

2 3

5HYDRAULIC STEERING CONVERSION KITS WITH BY-PASS SYSTEM 
AND SECURITY VALVE FOR DEUTZ  TRACTORS ASSEMBLING 
INSTRUCTION
1. The hydraulic oil pump will be assembled.
2. The oil reservoir will be attached to the cylinder head front right bolt.
3. The lift assembly. Bracket should be fitted to the engine body.
4. The lift valve and piston should be assembled.
5. A hose 5/8 R6 shoukd be assembled from reservoir to oil pump.
6. REturn hose from lift to reservoir 3/8 R6
7. Pressure hose from oil pump to lift 5/16 R1
8. While installing the long on the lift command arm be sure that installing should slightly 
not by force otherwise the steering does not work properly.
9. After thet center the valve shaft and fasten with M8 bolts.
10. Automatic Transmission Fluid ATF oil reservoir oil-After installation, put a red oil. Start 
engine, check oil level and add somemore if necessary, chack fastening bolts and hoses 
after 1 week.
11. The add justing screw of the pressure valve. 

DEUTZ TRAKTÖRLER İÇİN BY-PASS SİSTEMLİ EMNİYET SİBOPLU HİDROLİK 
DİREKSİYON SİSTEMİ MONTAJ ŞEKLİ
1. Hidrolik yağ pompası, mazot pompası karşısına takılacak.
2. Yağ deposu (silindir kapağı ön sağ vidasına takılacak).
3. Motor gövdesine lift bağlama kulağı monte edilecek.
4. Lift (Valf ve Piston) takılacak.
5. Depodan yağ pompasına 5/8 R6 hortumu.
6. Tahliye hortumu (3/8) . Akümülatörün yanından geçilerek depoya monte edilecek.
7. Basınç hortumu (R1 5/16). Radyatörün yanından geçilerek lift’e takılacak.
8. Uzun rot kolu, lift kumanda koluna monte ederken, kumanda koluna uzun rot’un burcuna kasıntı 
yapmadan takılacak. Kasıntı yaparsa direksiyon rahat çalışmaz.
9. Valf kumanda kolundaki M-8 civata kanala ortalı olarak sıkılacak.
10. Montajdan sonra yağ deposuna Transmission Fluid otomatik yağı -ATF kırmızı yağı konulacak. Motor 
çalıştırılıp direksiyon sağa sola çevrilip yağ gösterme çubuğu seviyesine kadar yağ tamamlanacak.
11. Hidrolik basınç sibobu.
Motor çalıştırılıp yağ seviyesi kontrol edilecek, eksikse ilave edilecek.
Not: 1 hafta sonra bağlantı civataları kontrol edilecek.

1

2

3

5

6

6

7

7

5

4
11

8

DEUTZ 6206 DİREKSİYON SİSTEMİ / DEUTZ 6206 STEERING KIT

1

7

7

8

8

10

4

6
6

2 3

5HYDRAULIC STEERING CONVERSION KITS WITH BY-PASS SYSTEM 
AND SECURITY VALVE FOR DEUTZ  TRACTORS ASSEMBLING 
INSTRUCTION
1. The hydraulic oil pump will be assembled.
2. The oil reservoir will be attached to the cylinder head front right bolt.
3. The lift assembly. Bracket should be fitted to the engine body.
4. The lift valve and piston should be assembled.
5. A hose 5/8 R6 shoukd be assembled from reservoir to oil pump.
6. REturn hose from lift to reservoir 3/8 R6
7. Pressure hose from oil pump to lift 5/16 R1
8. While installing the long on the lift command arm be sure that installing should slightly 
not by force otherwise the steering does not work properly.
9. After thet center the valve shaft and fasten with M8 bolts.
10. Automatic Transmission Fluid ATF oil reservoir oil-After installation, put a red oil. Start 
engine, check oil level and add somemore if necessary, chack fastening bolts and hoses 
after 1 week.
11. The add justing screw of the pressure valve. 

DEUTZ TRAKTÖRLER İÇİN BY-PASS SİSTEMLİ EMNİYET SİBOPLU HİDROLİK 
DİREKSİYON SİSTEMİ MONTAJ ŞEKLİ
1. Hidrolik yağ pompası, mazot pompası karşısına takılacak.
2. Yağ deposu (silindir kapağı ön sağ vidasına takılacak).
3. Motor gövdesine lift bağlama kulağı monte edilecek.
4. Lift (Valf ve Piston) takılacak.
5. Depodan yağ pompasına 5/8 R6 hortumu.
6. Tahliye hortumu (3/8) . Akümülatörün yanından geçilerek depoya monte edilecek.
7. Basınç hortumu (R1 5/16). Radyatörün yanından geçilerek lift’e takılacak.
8. Uzun rot kolu, lift kumanda koluna monte ederken, kumanda koluna uzun rot’un burcuna kasıntı 
yapmadan takılacak. Kasıntı yaparsa direksiyon rahat çalışmaz.
9. Valf kumanda kolundaki M-8 civata kanala ortalı olarak sıkılacak.
10. Montajdan sonra yağ deposuna Transmission Fluid otomatik yağı -ATF kırmızı yağı konulacak. Motor 
çalıştırılıp direksiyon sağa sola çevrilip yağ gösterme çubuğu seviyesine kadar yağ tamamlanacak.
11. Hidrolik basınç sibobu.
Motor çalıştırılıp yağ seviyesi kontrol edilecek, eksikse ilave edilecek.
Not: 1 hafta sonra bağlantı civataları kontrol edilecek.

1

2

3

5

6

6

7

7

5

4
11

8

DEUTZ 6206 DİREKSİYON SİSTEMİ / DEUTZ 6206 STEERING KIT

1

7

7

8

8

10

4

6
6

2 3

5HYDRAULIC STEERING CONVERSION KITS WITH BY-PASS SYSTEM 
AND SECURITY VALVE FOR DEUTZ  TRACTORS ASSEMBLING 
INSTRUCTION
1. The hydraulic oil pump will be assembled.
2. The oil reservoir will be attached to the cylinder head front right bolt.
3. The lift assembly. Bracket should be fitted to the engine body.
4. The lift valve and piston should be assembled.
5. A hose 5/8 R6 shoukd be assembled from reservoir to oil pump.
6. REturn hose from lift to reservoir 3/8 R6
7. Pressure hose from oil pump to lift 5/16 R1
8. While installing the long on the lift command arm be sure that installing should slightly 
not by force otherwise the steering does not work properly.
9. After thet center the valve shaft and fasten with M8 bolts.
10. Automatic Transmission Fluid ATF oil reservoir oil-After installation, put a red oil. Start 
engine, check oil level and add somemore if necessary, chack fastening bolts and hoses 
after 1 week.
11. The add justing screw of the pressure valve. 

DEUTZ TRAKTÖRLER İÇİN BY-PASS SİSTEMLİ EMNİYET SİBOPLU HİDROLİK 
DİREKSİYON SİSTEMİ MONTAJ ŞEKLİ
1. Hidrolik yağ pompası, mazot pompası karşısına takılacak.
2. Yağ deposu (silindir kapağı ön sağ vidasına takılacak).
3. Motor gövdesine lift bağlama kulağı monte edilecek.
4. Lift (Valf ve Piston) takılacak.
5. Depodan yağ pompasına 5/8 R6 hortumu.
6. Tahliye hortumu (3/8) . Akümülatörün yanından geçilerek depoya monte edilecek.
7. Basınç hortumu (R1 5/16). Radyatörün yanından geçilerek lift’e takılacak.
8. Uzun rot kolu, lift kumanda koluna monte ederken, kumanda koluna uzun rot’un burcuna kasıntı 
yapmadan takılacak. Kasıntı yaparsa direksiyon rahat çalışmaz.
9. Valf kumanda kolundaki M-8 civata kanala ortalı olarak sıkılacak.
10. Montajdan sonra yağ deposuna Transmission Fluid otomatik yağı -ATF kırmızı yağı konulacak. Motor 
çalıştırılıp direksiyon sağa sola çevrilip yağ gösterme çubuğu seviyesine kadar yağ tamamlanacak.
11. Hidrolik basınç sibobu.
Motor çalıştırılıp yağ seviyesi kontrol edilecek, eksikse ilave edilecek.
Not: 1 hafta sonra bağlantı civataları kontrol edilecek.

1

2

3

5

6

6

7

7

5

4
11

8

TRACTOR ASSEMBLY 
INSTRUCTIONS

2

5

7

61

4
11

8

6

5

7 3


	54176 Fitting Instructions (002)_01
	54176 Fitting Instructions (002)_02

